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Question 2 {12 marks}

. R 4a
(a) Simplify + ?

SR

* Question 1 (10 marks]

(a) Calculate —1—6—4— correct 1o two decimal places.
8-3x19

) Evaluate tan (420°) + cos (135%)

®  Simpiy %

(<) Solve the equation :
S (© Ifgle)=x*+1
x=8-x

@ valuate g(4) .
) Gy F_qr whqt_ va)ues of x is g(x) =97
- (d)- - Simplify- iz + 27

(d) - On separate diagrams sketch the graphs of

. I a4 _ Y y ‘
(e) Solve 2 128 ® y=4f (i1) y=+V4-x!

_ (e)  Simplify
() IftanA = 0-14 where angle A is acute, find angle A to the nearest minute.

2
Rl
+1] 1
[Sh e ol

- . a . . . R .
@® Simplify o (a b) x b €3} Express 0-15 asa rational n_umber

(h) Solve ‘2x| =30




[11 marks]}

ion {11 marks]

(a)  Inthe triangle ABC B

Aly.0) ° )

A as o -
Find: the triangle ABC is equilateral find the coordinates of point B.

()] The size of angle ABC (10 the nearest minute)

(i)  The area of the triangle ABC (10 nearest cm®) : .
€ = E for 0’ <6 <360"

: 1
82° +1
(®) .
3: {:(1)
/ - +3y—xt -3t

?‘ ner shown below is used in 2 game

State the domain and range of y = f (x) ) : dh

@ a qv

twiée and the score recorded after cach spin. Find the probability

h of the two spins the resuit is 3.

The sim of the two spins is 4.

(1) Find the equation of the straight line passing through points A ani
(ify  Find the gradient of OC

(i) Find the shortest distance from the origin € 10 the straight lifig




{10 marks]

: i '
On a number plane, sketch the region where Question § (12 marks)
(a)

| Differentiate 1k i i
~ ; - N (y _ 4)‘ y he following with respect to x

M xeutan
hold simultaneously.

Gy -
3Jx

~

(b)  Use the product rule 10 find & if
dx

y=x(x-4)"

In the diagram above ABLDE is a quadrilateral and BCD is 2 triangle.

© I fay=—"

BC/IED, AB=AE, DE=BD=DC, LABD=128° 51 e the quotient rule to find £ ().

iy Find the value of 8 .

‘(i) -~ Determine the size of angle BCD giving reasons.

A bag contains 4 red, 3 blue and 1 while ticket. Three tickets are randomly
selected from the bag without replacement. Determine the probability that at
least one is blue.

(d) " Find the gradier; I : = =
. A gradie it of the n 1 e cu { : he -
Fi C. ) omial to the curve y X'. at the pO‘ int w here x: Z




In the diagram AB =10cm, AD=DC
and angle ABD = angle BCD

(i) Prove triangle ABD is similar to triangle ACB

(ii)  Find the length of AD

(b) v For the parabola
(x+1)z =4(y;2j
wiite down the: T
® equation of the axis df symmetry

(i) equation of the tangent at the vertex

- (itl) ~ cooidinates of the focus

(c) Given the quadratic equation
3 —(k-3p+(k-3)=0 (k a constant)

&) Show that the. discriminant is given by

k* - 18k + 45

Gi) " Find the values of k for which the qiiadfatic equation has
(a Y Two real roots

®) No real roots

e

Question 8

(a)

{®)

@

@

O]

- Sketch the graphs, of the following

[12 marks]

lf~7— =a+byS (where a, b afe rati
Js E

find the values of a and b.

A function is defined as

6-x? whenxs0

27 whenx >0

f@%{

Evaluate:

O[O0

(iiy f(-aYwhéna<0

Sy ysx=1T o e L

G p=x-1

Find the equation of the locus of all points which are equidistant from the x
and y axes.

Prove that

-~ cos8

a. =
cos8 1-sin8




Question 9 {10 marks]

(2) Solve the inequality
ll - 4xl <4

) Find the domain of
(] Solve the equation
cos8 = tanb for -180" =8 s180"

(Answer correct to nearest minute).

(d)  A-surveying party measures an east-west base ling AB, where A lies to the
west of B and AB=c metres in length. From A the bearing of the base of 2

chimney C is ° and from B the bearing of the chimney is B°.

@ Draw a neat dlagram of the above.

(i), .Show that the perpendxcular distance of the base of the chlmney C
from AB is given by

C

tana - tan B




